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®  Question Booklet Number and Barcode Number of OMR Answer Sheet are same.

*  All pages & Questions of Question Booklet and OMR Answer Sheet are properly printed. All questions as mentioned above are available

If the!'e is any discrepancy/defect, candidate must obtain another Question Booklet from Invigilator. Candidate himself shall be responsible for
ensunng this. No claim/objection in this regard will be entertained after five minutes of start of examination.

W N

TG U B AH TS & SR R T ¥ aftw Sev 3
B TN F U P IR BT TeAd W S|

D I W 8| WE TP 9
T3 Pl T & A dad A

5. PUYAT I A TR INTAIR. IR-YFF W WEIHYED Fe&l 7 |
TAd VA TR AR ) GO g SuRerd anm|

s.g%m:m#Mh/m/mwm

[ .

7. WP Tod SR @ Y U 3id &7 1/3 91T BT SR | Tod 99
| A Y SR AT FE N U B | AT TP 2

8. W% W @ U Reey A 1 & R T 1, 2, 3, 4, 5 3ifda
far mar )1 =t 7 wd SR fAfde T B¢ 9 W e @
M (qa) H S99 W S ¥ Qrge ¥ | T 77w 8

9. X I WE T IIN T 21 9B &, W SU—9A® ¥ uig¥ (5) Awe
T TET Y| AR Uiw A A BF AN e Tew T A o 8, o W1
ur @ o we 3% &7 1 /3 9FT FIer WA |

10.%9% 9F B I @ SYvid el afard w9 ¥ atwHaR, e e
g o % o vt @ ol ' Reea (en) == RBRar ™ 8 &
o & FPaiRa T ¥ 10 fFe =71 sfafes wa Bar wr #)

11. IfE aedf 10% ¥ AR wwET ¥ uig Awt 7 F o A RAwey sifve

8 Far &, O IUP! ARG AT SR |

12. IR 5 we & 5 voR A B8 gEv a1 AeE veR @ 3R @,
ﬁm%ﬁwﬁﬂwﬁﬁm%mmﬁ
. TS BIF AT FATRIN® 4T Bl quferr

N #| afy R araedt @ urw 3 o1 il wrft fied 8, o eE e
fRog amrT grT PR srad @ smdt

¥ : IR B gl APd RO UFHST WAl & AT SUD U § @I
sAfpa amdt o ol 2, O 9w andlt @ e gferw § Wi &<
e g 3R o it ofer (Fft ¥ s wreEt A S
Fear) ARa, 2022 4T A AT vd T @ -t
» d8d Sraare! B e |\ € T A arweft @Y Wi § g arel!

FrarT @ GEe gdasi 9 el & e 2

el 3 R By " INSTRUCTIONS FOR CANDIDATES
1. mmﬁmwﬁmmaﬁmﬁtl It is mandatory to fill one option for each question.
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All questions carry equal marks.

Only one answer is to be given for each question. if more than one answers

are marked, it would be treated as wrong answer. '

The OMR Answer Sheet is inside this Question Booklet. When you are

directed to open the Question Booklet, take out the Answer Sheet and fill

in the particulars carefully with BLUE BALL POINT PEN only.

Please correctly fill your Roll Number in OMR Answer Sheet. Candidate

will himself/herself be responsible for filling wrong Roll Number.

6. Use of Correction Pen/Whitener in the OMR Answer Sheet is strictly
forbidden.

7. 1/3 part of the mark(s) of each question will be deducted for each
WIong answer. A wrong answer means an incorrect answer or more than
one answers for any question.

8. Each question has five options marked as 1, 2, 3, 4, 5. You have to
darken only one circle (bubble) indicating the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.

9. If you are not attempting a question, then you have to darken the
circle ‘S’. If none of the five circles is darkened, one third (1/3) part of
the marks of question shall be deducted.

10.* After solving the question paper, candidate must ascertain that he/she
has darkened one of the circles (bubbles) for each of the questions.
Extra time of 10 minutes beyond scheduled time is provided for this.

11. A candidate who has not darkened any of the five circles in more than
10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or factual
nature, then out of Hindi and English Version of the question, the English
Version will be treated as standard.

13. Mobile Phone or any other electronic gadget in the examination hall
is strictly prohibited. A candidate found with any of such

objectionable material with himvher will be strictly dealt by the
Commission as per rules.

Warning : If a candidate is found copying or if any unauthorized material is
found in his/her possession, F.LR. would be lodged against him/her in the
Police Station and he/she would liable to be prosecuted under Rajasthan
Public Examination (Measures for Prevention of Unfair Means in
Recruitment) Act, 2022, other laws applicable and Commission’s

Regulations. Commission may also debar him/her permanently from all future
examinations.
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7.
Maximum area of district Bharatpur and Alwar

ed with OKEN Scanner

- Whemn was the first National Population Policy of

-mﬂaﬁmv@umﬁw%ﬁm

(3) (A) is true but (R) is false. @) (A)wel § AT (R) 7w B

India formed? T &Y (4) Both (A) and (R) are true but (R) is not the @) I (A) T R) T ¥ AR R), (A) P
(1) Year 1972 (2) Year 1976 (1) = (ad) 972 (2) 5 (ad) 1976 correct explanation of (A). W e T R |

(3) Year 1984 (4) Year 2000 (3 w7 (@) 1984 (4 & (a) 2000 (5) Question not attempted (5) IFERT W

(5) Question not attempted (5) IrgafRd we
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1. Which wavelength/s of electromagnetic 1. gqX Wagw ¥ fagm e WaRd &1 fod lies between which AN Y9 Foax ol a1 e amr fae :
spectrum is/are used in remote sensing? el o1 wudn fpar o & /87 D) 600700 e CREST Wt Yl & wer Rew #2
(A) 0.03 - 0.2 nanometer (A) 0.03 - 0.2 e , mn (1) 600 — 700 FrHies o
(B) 0.4 - 0.7 micrometer (B) 0.4 - 0.7 HIEFER (2) More than 800 mm 0 ‘20 Brilion & o
(C) 0.1 - 30.7 centimeter (©) 0.1 - 30.7 I (3) Less than 600 mm 2 e
(D) 8 - 14 micrometer (D)S-._l“-m- (4) 700 - 800 mm ()Gﬂoﬁﬁﬂﬁa“ﬂﬁ _
Code - [E©E — (8) Question not tiiat (4) 700 - 800 fAciifiex
(1) (B),(C)and (D) (2 (A)and (B) (M @®),C)IRD®) @ (A) IRB) b Match th () IrgaRa we
(3) Only (B) (4) (A) and (D) (3) P (B) (@) (A) 3R (D) * Ma ¢ following and select the correct 8. fym=faiRag @Y Tt
(5) Question not attempted (5) sraRa ueA answer from the code given below - e A TR TR o PIfoTe T Y Ry v
+ Choose the correct statements - - HE FUA B Mining Area Minerals ) T 8 - i
(A) Punjab and Haryana are traditional rice (A) m <1y Eﬁ'ﬂ'l'“ﬂ UNUR® Tladl Idiad (A) Akwali and Satkui (1) Fluorite (A) FFHaren 3z abs (')I o
growing areas. | _ . 5 i) weRTEE
(B) In Himalayan Highlands, wheat is a rainfed B) ¥, Ruem & swrrt F awt amRa (z) Kantpura Agucha (i) Gold (B) THYRI—IAT[ET G) |
'y (C) Jagpura-Bhukia® (i) Limestone -
crop. el _ (C) STR—¥fdar (i) ST
(C) Tea plantation started in India in the decade (C) WRA ¥ A I &) YA 1840 B TS (D) Mando ki Pal (iv) Copper (D) wieY B g (iv) drar
‘ Sab i 7
Cod:f 1840. - i'§§| :'JE:d . la—Lohariya (v) Lead-Zinc (E) Sea—aeRar v) ST
(1) (A), B)and (C) (2 (A)and (B) () (A), (B) T (C) (2 (A)Td (B) () (AGi), B-Gi). (CLeh). (D R -
(3) (B) and (C} (4) (A)and (C) (%) (B) T (C) @) (A) @ () @) (A;E?:) ((BB);_((IH)) ’ (C) ), 0)-Gv), E}-(v) (1) (A)-(i), (B)-(iii), (C)-(3), (D)-(iv), (E)~(v)
(%) Question not attempted %) sl we B o D M. (B)-Gi) @) (A-Gv), BI-), (C)-Gi), (D)), (E)-Gi)
- In which of the following hill range is ST A Frafalea § ¥ Pl gda 1 (A, (B)-(0), (O-), D), B)-Gv) @) (A)-Gii), (B)-G), (C)(i), (D)-(v), (B)-(iv)
“Doddabetta peak” situated? siae ¥ Reg &7 @) (A)-(), B)-(iv), (C)-(ii), (D)-(ii), (E)-(v) @ (A)-(i), B)-(iv), (C)-(iii), (D)-(ii), (E)-(v)
(1) Anamalai (2) Nallamala (1) =TTt (2) et (5) Question not attempted (5) areiRe W
::; Nilgiri ::; Cardamom ::; W@Aﬁﬁﬁﬁ o (@) ey 9. Given below are two statements, one is labelled ~ 9- ¥ Y Por RY 7T & vE P B A) 3l
Question not attemp ... _ as Assertion (A) and the other as Reason (R). TR B FRT (R) D T § Ty
In Thomthwaite’s 1948 Climatic Classification, 4 &ffadc & 1948 B ey FHHEW H A Assertion (A): Anomaly is found betweeq R) & &9 T B
Potential Evapotranspiration (PET) is calculated AT ArSACES (PET) @1 0T 91 S & — seographical and  mapmet: DU (A): Al B WFNfers IR Haaig SR @
gt;ﬂ; — (1) s o awe 9 north of the Eacd -l | 99 faEy o Sl 2
ean monthly temperature e ae aToEE -
(2) Mean annual temperature @ mmmﬁ; X Reason (R):  Variation is found in ”“FR):I_"I ' EFIF{ B IT TR B
(3) Mean maximum monthly temperature ) o magnetism of igneous rocks of 95 H A= o Wl 2
(4) Mean monthly precipitation (4) iy v different period. ST W ¥, PrafaRea § 3 I we @
(5) Question not attempted (8) IrgeiRe e In the above context, which one of the following -4 27
- Who was the propounder of Hill Slope Cycle 5. 9er$! o1t =% Rigia @ Wiius 1 97 is correct? aNi
theory? (M) (A) 7o ® afda (R) ) 2
; . (1) T & (2) Sy H. Sfaw (1) (A)is false but (R) is true. "
(1) A. Young (2) W.M. Davis 2 & fr @ . (2 [ (A) T (R) W8 & = R), (A) A
(3) L.C. King (4) W. Penck i 4 ) Both (A) and (R) are true and (R) is the wé e
(5) Qllﬂﬁtiﬂﬂ not attempted (5)' Slﬁ?rﬁﬂ U3 coIrrect explanatiun of (A)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

10. Arrange the following approaches in
chronological order and choose the comect
option using the code given below -

(A) Areal differentiation

(B) Spatial organisation

(C) Exploration and description
(D) Regional analysis

Code-

(1) (D)-(©)-(B)-(A)

(2) B)-(C)-(D)-(A)

) (C)-(D)-(A)-(B)

4) (A)-(B)-(C)- (D)

(5) Question not attempted

11. According to the Rajasthan Forest Report
2023-24, the descending order of the districts of
Rajasthan in terms of total forest area of year
2021 assessment are -

(1) Pratapgarh — Udaipur — Alwar — Baran
(2) Udaipur — Alwar — Pratapgarh — Baran
(3) Pratapgarh — Udaipur — Baran — Alwar
(4) Udaipur — Pratapgarh — Baran — Alwar
(5) Question not attempted
12. The first master plan was prepared for which city

in India?
(1) Delhi (2) Mumbai
(3) Chennai (4) Kolkata

(5 Question not attempted
13. Which of the following rivers is not a tributary

of Banas?
(1) Kothari (2) Moren
(3) Berach (4) Morel

(5) Question not attempted
14. Which one of the following pairs is correctly

matched?
(Irrigation Project (District)
(a) Reva - Pratapgarh
(b) Lhas1 - Baran
(c) Folai Lift - Jhalawar
(d) Kaliteer Lift - Dholpur
Select the correct answer using the code given
below —
Code -

(1) (a), (b) and (c) (2) (b) and (c)
(3) (b) and (d) (4) (a) and (b)
(5) Question not attempted

10. = St @1 e B AgER

R ¥ iR S Ry T g @ 9 s

- |
(1) D) - (C)- (B) - (A)
(2 B)-(C)-(D)-(A)
BG) (C)-D)-(A)-(B)
4) (A)-(B)-(C)-(D)
(5) argaRa we=
M. o[ 99 ufAgT 2023-24 @ FATAR, [A
P a7 &3 a9 2021 N ghe | oI
3 et o1 RS wH ¥ -
(1) ¥aTe — IR — AR — TR
(2) SR — IJdaX — WG — NI
(3) WATITE — ITAYR — TRI — AR
(4) STAR — WATITE — IRT — AN
(5) Irgela v
12. yra ¥ o AR @F fha wieR @ o AR
foar e

(1) feeh (2) g=%
) T=ig (3) DrABIH
: (5) IgaRa =
13. fpefafaa § ¥ I 9 B GEID
Tl 87 L
«(1) D™ (2) AR
) a9 . (@) ARd
(5) IFaRa v .

14, Prefafag 3 PR 79 w8 qfE &7
(a) ¥ar S

(b@ﬁﬂﬂ = C1kd|

fc) wiag forde - HATTaTS

{d) FrenaR fode  —

- A Ry Y e B WEEAT ¥ WE S B
FYq B¢ —

@'_

(1) (a),(0) AR () @ (b) 3R (c)
(3) (b) 3T (d) (4) (a) 3R (b)
) sgaRa v
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15 In upper air, inversion of temperature of trade
winds are generally associated with -

(1) Wa_rm cyclones of tropical and sub-tropical
regions |
(2) Warm anti-cyclones of tropical regions
(3) Downward movement of Jet streams in
tropical regions
(4) Movement of cold air on warm air
(5) Question not attempted
18. Balaghat Mmanganese producing belt is situated in
which of the following states of India?
(1) Chhattisgarh (2) Odisha
(3) Madhya Pradesh  (4) Jharkhand
/() Question not attempted
17. Who among the following supported Stand-Still
Theory of coral reef formation with emphasis on
change in sea level?
(1) Murray (2) Daly
}_' (3) Ofiver (4) Darwin
(5 Question not attempted
18. Which of the following is correct sequence of
mountain peaks of Aravalli in descending order
of height?
(1) Raghunathgarh, Nagpani, Hrishikesh,
Taragarh
1(2), Hrishikesh, Raghunathgarh, Taragarh,
A3) Hrishikesh, Taragarh, Raghunathgarh,
- Nagpani '
3¢ (?) Raghunathgarh, Hrishikesh, Taragarh,
‘ Nagpani
1(3) Question not attenmpted
19. Who wrote the book, “Mainsprings of

1_5(1-)1.+HRuil:_te1" (2) Humboldt
(3) Huntington (4) Ratzel

- (5) Question not attempted

20. The correct group of States of India situated mﬂlfﬂﬁﬂﬁﬂ?lﬁ@ﬂmﬁiwaﬁﬁqw

- along the International border of Miyanmar is -
.. (1) Nagaland, Tripura, Manipur and Mizoram
* (2) Assam, Arunachal Pradesh, Nagaland and
| Manipur |
' (3) Arunachal ‘Pradesh, Nagaland, Manipur and
(4) Meghalaya, Manipur, Tripura and Assam
(5) Question not attempted
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15. 5& arg #, =us g9+t @ auEE Feraor
HEROR: O B & —
(ﬂgwrﬁmm’rmmﬁmﬂtr'. &= & 9 paral
(2) 97 HicHEg &3 & 1 yfdamaai 9
(3) ST FHiesEhg &3f ¥ v grEt & G

AR T

(4) ™ TR B FWR S ARl B THT 9
(5) ar=Ra uwH

16. IreTaTe Frie Sare v aRa & Fr=fafag
¥ ¥ e g ¥ e 27
(1) sxiTe (2) anfeam
(3) 7= W 4) FREvS
(5) FFaRT uwH

17. feforfRaa & 9 a9
SR 7 BT vaa PRy
frgia &1 9=e= f$ar

(2) S

(1 W
@ sifds

(3 scanned with OKEN Scanner

dd H 9Raes )
% R wie

(3) apferax

(5) Igafa g '
18. frfolRaa § § arraeh gda & =@l @

SR B ITIAR e AT W & —

I

19. “Jafse ofe RiREEoeET e gww ® |

wfdar d9 97 |

(1) Rex (2) s |

() sfewTes @) Yoo #
(5) IgaRa w&

R ——

@ IS4l BT HE WE § —

(1) SrTevs, g, AR v R

(2) 3H, ATUMEA WQH, ATATS Ud AR
(3) BV WY, AT, WOGR UF A
(4) e, AR, g w9 s

(8) srgoilRa we
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21. ‘Mahogany trees’ are found im which of the 21. ‘FEr freafafea § 9 fes ® 3 #‘-Vun Thunen’s Agricultural Location Theoryis- 26. gfg o BT HIY Iafefy fRigia & — :
foltowing type of forest? ¥ urd o &7 '- (1) Bmpiric - '
24 p al and Normative (1) mﬂq% T m S
(1) Mﬂﬂgﬂ)\'ﬂ forest (1) #;ﬁ-q aq ; (2) Indetermini ) o
(2) Mountainous forest | (2) gdd T . eterminists and Mechanics | (2) sfreagar) T it
(3) Tropical evergreen forest (3) SwEfeT=lg weEeR a1 ; (3) Deterministic and Normative . (3) Feegardt T Aty
(4) Tropical deciduous forest (4) SwrHfes=iy quiarh a4 E | (4) Idealist and Indeterminist @) e qur sfTaaard
(5) Question not attempted (8) arIRT w¥A | | 4 (5) Question not attempted | ol
22. Which among the following races are having 22 eeR & uR, frfoad 4 | ﬂﬁﬂ?‘l‘il ramferd B . . (5) sgolRa =
cephalic index more than 75 as per Taylor? 75 N IRNF AR qEE® /il f E * Which of the following is not associated with the ~ 27- fr=foriRaa & o9 g 9o 3
(A) Nordic (A) ] science rules fixed by the ‘Vi Circle’ . .
ustraloi | (C) |
(D) Alpine _ (D) 3TeaTE (1) There should be a compulsory testing of a () aRPeT &1 e A w9 & B
e, Sl oode given Ry T 7 ¥ W& S e ke - " hypothesis. 1Y | ‘
Code - R — - (2) Facts are supported by empirical evidence. (2) T agaIfes el ¥ watfa B ¥
: 1) (A) &= (D) (2) (A), (B) =T (D) | _ _ -
(1) (A) and (D) (2) (A), (B) and (D) ( ! 3 (3) Knowled hould be ed ,
(3) (C) and (B) @) (B), (C) and (D) 3 (C) < (B) (4) (B), (C) eI (D) _ mmphyj; SR naxed - with (3) 99 TedmiT & gaa S Ay
(5) Question not attempted (5) srgaRa wF | ()
23. Which of the following districts of Rajasthan had 23. fpafofaa § & 202223 ® worerd @ {9 (9 Knowledge must be value free. S 7o g T AR |
the highest per hectare production of Jowar in gﬁ # IR TR R, P SARHAT FalED (5) Question not attempted (5) IaRa we
2022-23? ? 28. - l . :
(1) Rajsamand (2) Bhilwara (1) oTEET (2) WerarsT fcording to Census 2011, the states with 28 STV 2011 % AR, ARG § HAA: T
(3) Chittorgarh (4) Karauli (3) RisTe (4) AN minimum and maximum population density in T4 Aftfpad ST O a1l oY § —
- India respectively are - (1) g -

(5) Question not attempted | m (5) IguiRa ¥
24. The ‘Baroque style’ was related with - V™% 24. g% yuell” W off —

(1) Urban planning in Medieval European (1) weRphT AT TR A TR A

- (1) Arunachal Pradesh and Kerala
* (2) Arunachal Pradesh and Bihar
- (3) Mizoram and West Bengal

(2) FvomEe U v faER
() R vg uf¥ew s

Cities. .
: - - i |
(2) Agricultural system in Medieval European (2) weag i Mg TR A P g 1 | 4 _
Cities. | @) s e T i ¥ P TEh ¥ _()Nagal_andandMahamhtra (4) AFIRIvS U9 HERTS
® g‘m&m in Ancient Nile Valley . o 29 Currents produced by a tide while passing 29- SR §N S~ HRIY W§ STASTETI I
Cities. - . ;thrn}lghaSﬁaitanu]fisknnwnas- el ¥ IorRel & af W SR §F — |
(5) Question not attempted S % EE; N o B (1) Tidal Range (2) Tidal Volume (1) warda ¥ (2) SRR ST |
25. As Von Thunen’s theory, the profit of a - 4 o9 @ Rigia @ 9K, By (8) Tidal : fy _ |
farmer depends upon which of the following T FrEfeREd § ¥ 5 =1 0} iR P 7 :5: ;LdﬂlﬁB"lgﬁt N ‘4:1 TidalRace ™' (3) oy SuR (4) TRy e |
variables? | (A) T FT T 9 ¥ estion not attempte (5) Glﬂﬁﬁa' TE |
gg)) PSE“mi En!:;;csoﬂsit: commodity \ (B) SWIGT &I AFTd 30: The midterm objective of National Population  30- TS W= Y 2000 P THFAT g
(C) Transportation cost © () IRaET 1 @ . Policy 2000 is to bring Total Fertility Rate TR, FA U R (T.F.R.) DY 5 aRreeme
(D) Labour (D) #H - (T.F.R.) to the replacement level of - WR P ? |
Select the correct answer from the code given H fRY ¢ FH 9 GEl SR DT GG Dieig — (1) 2.1 children per woman & - lﬁzﬂ:{; . 4[1
below - ~ T — . . T - SIER) !
Code - (1) B (A) T (C) () Daar (B) a1 (C) 3 (2) 1.8 children per woman (2) 1.8 Ry wfy afkem |
U} Ouly (et € - (e e ® (A),®), T @ A),@TnC) § O 23children per woman @ 2.3 Ry ofy wfe |
(3) ((thl. (B), (C) ; - (D) | . .-(4) 2.0 children per woman (4 2.0 Ry ufy wiRen i
- (5) Question not attempted . (5) 3rgala W& i (5) Question not attempted (5) IaRa e ;
327 % ~ Page70f32 | 8
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31. Which among the following are the demerits of
Green Revolution in India?
(A) Inter-crop imbalances
(B) Regional isparities
(C) Unemployment
(D) Increase in interpersonal inequalities
Select the correct answer from the code given
below -
Code ~

(1) (A), B), (C) and (D) (2) (A), (B) and (D)
(3) Only (A) and (B) (4) (A), (B) and (C)
(5) Question not attempted

32. Which one of the following is a characteristic of
igneous rocks?
(1) Exfoliation (2) Crystalline
(3) Fossils (4) Layers
(5) Question not attempted

33. Height of a tripod stand in Plane Table Survey
is -
(1) Approx. 1.25 meters
(2) Approx. 1.50 meters
(3) Approx. 1.75 meters
(4) Approx. 2.00 meters
(5) Question not attempted

34. Calculate the Standard Deviation' for the
following values and select the correct answer -

01, 03, 05, 07, 09
(1) 2.38 (2) 2.03
(3) 2.83 (4) 2.53

(®) Question not attempted

35. Consider the following statements and select the
correct answer from the code given below -

(A) In mountainous region, winds move upslope
during day time.

(B) Water in sea gets heated by sun rapidly than
adjacent land.

(C) Downward movement of wind in
mountainous region is known as ‘Valley
Breeze’.

Code - |

(1) (A), (B) and (C) are correct

(2) Only (B) is correct

(3) (A) and (B) are correct

(4) Only (A) is correct

(5) Question mot attempted

Addae4z == @ 0@

31, qmﬁgﬁamaﬁﬁnmﬁﬁﬁaﬂw
ST &2

(A) IR-FBH IR

(B) &3 TG

(C) SRS

(D) TREIRS el ¥ afE

‘-ﬁﬁﬁqn'qagﬁﬁw?-ﬂﬁw.

DT —

W —

(1) (A), (B), (C)TT (D) (@ (A), (B) T (D)
3) daaA)Tn(B) @ (A), (B) TN (C)

(5) e e
2. 3y wgEl § e § @ P 06
fadreem oy wr 27
(1) eres (2) IR
(3) Sfarew (4) o=d
5) IaRa ww=

%-%ﬁmﬂﬁawﬁﬁumﬁaaﬁmt—
(1) ST 1.25 Fiex
(2) SN 1.50 Hiex
(3) o THT 1.75 Hex
(4) ST 2.00 #Hiex

(5) IrgaiRa u=A

4. F=ifea 9Fi @ fog w9 fages @ 7oA

HIfIT Tg FEI TN DT TG DINT —
01, 03, 05,07, 09

(1) 2.38 (2) 2.03
3) 2.83 ~ (4) 253
(5) IgmRa ueA

ﬁ-ﬁﬂ%ﬁqawﬁwﬁiwﬁmﬁm?ﬂﬁﬁﬁ

Y e | Hal SR BT I9G7 PG —

(A) T &5 3 R B W U B 9 AR
™ Far 8l

_(B)ﬂgﬁﬁmq&mmﬁﬁmﬂm
&) e S Tolt F T BT &)

(C)qﬁuéﬁﬁqﬁa‘i?ﬁ%aﬁaﬂv$m
oI O TR PEd & '

ﬁ.—

(1) (A), (B)ae:n(cm'e"r*e*\

(2} ®a (B) Wl ©

(3) (A)Tur (B) TR &

(4) DacT (A) T B

H.I

e ot

2 32-%
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36. Which of the fol
Main Field of Sty
(1) SM. Ali -
(&) RN. Dube

lowing (Indian Geographer -

dy) is not correctly matched?
— Historica] Geography

Y = Economic and Commercial

Geography
3) George Kurian —

Gcnmnrphulngy
(4) S.P. Chatterjec - Physiographic

Regionalization of India
(5) Question not attempted

Sura Ghatisa _ (A)...located in _(B) .
(1) (A)-plateau, (B)-Southern Aravalli
(2) (A)-peak, (B)-Central Aravall;

(3) (A)-pass, (B)-Central Aravalli

(4) (A)-pass, (B)-North Easterri Aravali;
(5) Question not attempted

According to Malthus, which of the following
factor is/are responsible for population control?
(A) Postponement of marriage

(B) Artificial means of family planning

(C) Natural disasters

(D) War and famine

Code -

(1) (A),(C)and (D) (2) Only (A)

(@) (A) and (B) (@) (A), (B), (C) ﬂﬂd (D)
(5) Question not attempted

39. Which one of the following statement is not
correct?

(1) Madri dam was constructed in second phase
of Dewas project.
(2) Dewas project has emerged as the lifeline of
Udaipur. _
(3) Gorana dam was constructed in first phase of
.~ Dewas project.
{4) Chandlai dam was constructed in third phase
of Dewas project.
(5) Question not attempted
40. The “red face” of the Green Revolution refers
to -
(1) imcrease in violence in rural areas
(2) increase in production of wheat
(3) excessive use of pesticides
(4) the problem of salinity in the soil
(5) Question not attempted

7.

36. fraferiea F § BT (R e

AT & Q&) gAfera el 27

(1) TH.GH. el — SREife e

?) FRT. ¥ — afF vd AT F
(3) Sl FRET — F—ompfy s

(4) TH. Teoh — AR BT ANfere FReER

(5 IgaRa gem
37. ;51 U UF __(A)..B O __(B) ¥ sERed
|

(1) (A)—9erR, (B)—<fRrf aRmEel

(2) (A)-RrER, (B)—7em IRTGST

(3) (A)—==1, (B)—7=4 IRTEh

(4) (A)-<=f, (B)—STR—1d sma'eﬁ

(5) IgaRa v

B. fyafafed # 4 IE/A IO B IR,

wree e & fory Soerll aRe € /87

(A) faarg @@= -

B) IRaR A & F JrE

(C) Ui A9sg

D) I& & &

a-,_d_

(1) (A), (C) 3R (D)

(3) (A) 3R (B)

(5) IrEilRa weA

39. fA=forRaa d SFET FUH 9E) EI 27

(1) <99 aRareT & f§da ==or & g a9y
&1 fAsior fosar )

(2) <o URISHT ITAYGR B Sia @I T
S 2B

(3) 3T URATSHAT B WM TROT H NRON S
®1 fA=tor far &)

2 Baa (A)
4) (A), (B),(C)3R (D)

Ve
Eﬂmwﬁu‘mm%qrﬁuwﬁﬂmﬁ“ ot

&1 fAmior foear |
(5) FgaRa We :
40. zRT wif<T &1 A gEter wefia & —
(1) 797 &= # & a1 wewel § afg 9.
(2) I B Scured & IRHaT ¥
(3) PIeAH & IARF T J
(@ A J T B T A

(5) IaRd we
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81. Match List-I with List-II and select the correct
answer from the code given below -
List-1 List-I1
(Book) (Author)
(A) Cosmos (1) Fleur
(B) Erdkunde (ii) Ritter
(C) Volkerkunde (ii1) Ratzel
(D) Corridors of Time (iv) Humboldt

Code -
(1) (A)-Giv), (B)-(i), (C)-(iii), D)(i1)
(2) (A)-(ii), B)-(iv), (C)-(iii), (D)-(1)
(3) (A)iv), (B)(ii), (C)-(i), (D)-(i1)
(4 (A)-(iv), (B)-(i), (C)-(iii), (D)-(1)
(5) Question not attempted
42. Which among the following river is most

polluted?
(1) Godavari (2) Brahmaputra
(3) Satluj (49) Yamuna

(5) Question not attempted
43. Which among the following statement is correct
regarding isostasy?

(1) During A. Pratt’s survey, the gravitational
deflection between Kaliana and Kalianpur
was below 10 seconds.

(2) Pratt postulated that ‘Bigger the Column,
Greater the Density’.

(3) Pratt’s theory was based on Law of
Floatation.

(4)- During A. Pratt’s survey, the gravitational

11. —1

gw e ¥ WE IR P FA DT =
B -1
() (erer)

(A) SR (i) TR

(B) IEHTR (i) Rex

(C) AreRTR (iii) Yeore

D) PR offs e (iv)

W —

(1) (A)-@iv), (B)-(i), (C)-(iii), (D)-(i)
(2) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(1)
(3) (A)-(iv), (B)-(ii), (C)-G), (D)-(ii1)
(4) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(1)
(5) IguRa =
42. fr=faid ¥ ¥ P 74 waifts wgia ¥

(1) MeEA (2) s=Tg=
(3) WSt (4) T
(5) IgaRa e

43. ypviger /weRufy @ wed § Frfeed &
PIET T T &7
(ﬂq.ﬂta‘aﬂﬁﬂw%aﬁﬁasmww
HEaFR @ 99 Toaeeor ¥ 3N
10 APvS | HH AT|

@ fe & PR K F w59
TR, TG Sa-T S BRI |

(3) ﬁeaﬂﬁzfawa?ﬁmmanmﬁam!' |
4 v e & |dHe ® SRE BfedEr W@

HeA-R P [ [oEPET H 3N

deflection between Kaliana and Kalianpur A ¥ 3R ol
was above 10 seconds. TS
(5) Question not attempted (5) rgaRa ae :
- | ing is/arg/c w8/
44. Which among the following is/arg/ comrectly 44 fyifeiRad & & iwam /| gAfora
~ matched? ' s @ Wign  — W
Theory of Delimitation - Propounder . o1 g
of Umland (A) srrfpar HAfsd — g E‘afr
(B) Law of Retail Gravitation - P.D. Converse [1:% 3 (C) R S UIG] ﬁﬁ m — %E.ﬁ
{C) Breaking Point Theory - Reilly 2 Ry T B BT ITET IR FE SR B
Select the correct answer using code given -F AT — .
below - | ‘ ze - _
Code - \
(1) (A), B)and (C) {2 (B)and (C) :;: S;‘% (:3;;'*" ©) :4; g;::(g)
(3) Only (A) (4) (A)and (C) )
(5) Question not attempted (5) IR W&
32-% Page 10 of 32
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45. Which of the following is not correctly matched?

(1) Erosional Landform formed by wind -
Yardang

(2) Depositional Landform formed by Glacier -
Kame

(3) Depositional Landform formed by wind -
Inselberg

(4) Erosional Landform formed by Glacier -
Nunatak

(5) Question not attempted

46. Simple linear arrangement of dots from right
lower corner to the left upper corner in a scatter
diagram indicates -

(1) Negative Correlation
(2) Perfect Correlation
. {3) No Correlation
(4) Limited Positive Correlation
(8) Question not attempted
47. Which of the following group of places of United
- States of America is known for private ship
building and repairing Industry?
(1) Virginia, Connecticut and Mississippi
(2) Atlanta, Jowa and Maine
(3) Wyoming, Utah and New York
#4) Oregon, Montana and Florida
(5) Question not attempted
4., Which among the following is not associated
with influence area of city?
(1) Central Business (2) Umland
District (CBD)
(3) Urban Hinterland (4) City Region
(5) Question not attempted

49. “Human Geography is the study of changing
relationship between unresting man and unstable
Earth.” Who said this?

4. frefofaa & @ aTar yafera =8 87
() g7 g™ fAffT srresee g—amafa —
ARSI
(2) femrh g1 FAiffa fFafla v—smefa — @4
@) g7 g Af Fefe g—emefa —
gt -
@) ferrt gmr FAffa srReToTe ey —

4. dgw T AR & Frefafa ¥ ¥ e
wEl H1 WE o &3 § werer fmi v
R SN @ foIQ SIew wrar 27
(1) Teiifan, Ffdese o ARG
(2) veaier, amaar g A9
(3) =nfi, ger aun =guie
() IFE, Fie T AT TeRer
(5) FgRa e

8. FfoiRag § 3 o9 TR @ W 93 |
g 81 27

(1) & amRs () smave
forer (CBD)

) TRT ySuRw (4 TR w9

(5) saRa we=

49. -me?ﬁraﬂ?fﬂmﬂilawa?
919 IRTdTNS T BT ogTE 217 7 T
1 & fhgeT 27

- (1) Ratzel (2) Miss Semple 3 (1) Yeurd 2 3. A
(3) Ritter {4) Taylor ) Rex @) >R
(5) Question not attempted (5) sRa g
9. While calculating Human Development Index, 59- 7rg fRery APID. D TOMT B HY, 5D
weightage given to its different dimensions is - Rff= s 1 wikar < wirly & —
(1) 1 (2) 1 ) (2 1
5 4 S 4
@ 1 (4) 1 3 1 4) 1
3 2 3 ' 2
(5) Question not attempted () IgaRa we=
32-%8 Page 11 of 32
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51.

52.
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“The table of nature is laid for a limited number

of guests and those who come uninvited must

starve.” Who gave this statement related to

population growth?

(1) Thomas Robert
Malthus

(3) Thomas Sadler (4) Henry George

(5) Question not attempted

Work related to entertainment and services is

known as -

(1) Secondary Occupation

(2) Quaternary Occupation

(3) Primary Occupation

(4) Tertiary Occupation

(5) Question not attempted

(2) Thomas Doubleday

- Who has considered boundaries as “Political
Isobar lines™?
(1) A_E. Moodie (2) J. Ancel
(3) Lord Curzon (4) F. Ratzel

(5) Question not attempted

54. Which among the following countries has the

highest iron ore (crude) reserve in year 2022 as
per US Geological Survey Report 20247

(1) Russia (2) India

(3) Australia (4) Brazil

(5) Question not attempted

S5. According to Thomthwaite’s, which climate

does the shaded area in the given map represent?

(1) EAd
(3) DB'w
(5 Question not attempted

56. ‘“The isolated regional écnnumy gave birth to the

Genre de vie.” This statement was given by -

) oifvH AR
(8) argaRa e

52. wRo Al el ¥ i B B W

ST § -

(1) fgias aa™
(2) ais T
@) e aaa™
(@) OIS Faag
(5) IFgaRa weA

53. fpe WHRE B IR TR @R P

(2) & =d
(4) TH, Yeud

THE HFT 27

(1) T2 98
(3) &S FuA

(5) IgERa weA

M. Gga g (ER®T) e
2024 & AR ¢ 2022 # Fr=ifafad & & f&d
AW ¥ AT I (=) FT AfRIFHaH HeR 27

(2) R

(@) "l

(1) &9
(3) sirsforan
(5) I g=Ra g=

55. offfforae & VR, Ry M #Ff= # Bryfed
&= fog Se@rg & yeRia &war 87

(1) EA'd

56. "YTH! S FATTERIT SR SF 41 B T <

@) 2 it

() DA'w
(4) CA'w

2" g8 FU+ Rar o —

(1) Humboldt (2) Blache (1) g=Iee 2 =™
(3) Ritter (4) Hartshorne - (3) Rex 4) gcdo=
(5) Question not attempted (5) srgaRa e
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Geography?

(A) Pe_ogﬂe have environmental images in their
mind.

(B) Those images can be identified accurately
by researchers. .

(C) There is no relationship between
environmental images and the decision-
making process of man. |

Select the correct answer from the code given
below -

Code -

(1) (B) and (C) are correct
(2) (A) and (C) are correct
(3) (A) and (B) are correct
(4) Only (A) is correct

(5) Question not attempted

- Match List-I with List-II and select the correct

answer from the code given below -
List-1 List-I1
(Regional Trade (Member
Group) Country)

(A) ASEAN (1) Azerbaijan

(B) C.LS. (ii) - Brunei

(C) NAFTA (iii) © Peru

(D) LAIA (iv) US.A.

Code -

(2) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
(4) (A)-(ii), B)-(), (C)«(iv), (D)-(iii)
(5) Question not attempted

- Halocline zone is related to -

(1) Air pressure (2) Salinity
(3) Temperature (3) Density
(5) Question not attempted

- Comsider the following statements -

(A) Pnt’h Loamy and Clay soil types are found in
it, ‘

(B) This soil has the ability to hold moisture for
a long time. 1

(C) This soil is found in Bhilwara, Ajmer, Sirohi
districts.

On the basis of above statements identify the

type of soil in Rajasthan -

5. Zagrar A ®1/d fefafaa ¥ 9

HITT/ BHY AERAT P &/ 8?

(A) SfFar & a9 ¥ aaaveia wfofes 8

gl

B) W vfafawel & Muwatell grr aRygar 9
98I T Hepell & |

(C) araraRoig wffd=f g =fda @ fadfa o=
&) ufsbar ¥ Ty =8 Bvar 2 -

T AT T e q 98 SR B 79T BT —

'ﬂF_

{1) (B) T2 (C) 98 &

(2) (A) TAT(C) T &

(3) (A) =1 (B) TE &

4) Bast(A) T B
(5) IiRa we=
- g1 & I ¥ gafera aifig qer i
QT T T A & ST &1 99T PfY —
3G L | 5L ||
(el IR w9 E) (S vE)
(A) I (i) ReTH
(B) 413127 (ii)
(C) =TT (111)
(D) &saT (iv) gad I
| : FARST (U.S.A.)
@ —

() (A)-Gv), B)-iii), (C)-(i), (D))
@ (A)-(i), (B)-(i), (C)i), (D)-(iv)
() (A)-(iii), (B)-Gv), (C)-(i), (D)-(i)
@) (A)-(i), (B)-G), (C)-Gv), (D)-(ii)

(5) Fg<iRa g
TAIGAIST AvSd BT GET & —

(1) Iy s J (2) SraumaT |
) = | 4) o799
(5) IRa =
Fr=falRaa #=Fl W AR Fifoe -

(A)gﬂﬁﬁ'ﬂaahzaﬁfmaﬁwﬁa?ﬁ
|

(B) 39 HaT % T 0P THY dF R W
DY GHaT B 2

(C) ' Fa1 Nearer, sorR, RS Rrar 3
et 2

SRITT U P HER W IO B Fa&T Bl
TSR a1y —

- 4
y

{1) Alluvial Soil  (2) Red-Yeltow Soil (1) Sg T (2) A~ 2T

{3) Medium Black Soil (4) Red-Loam Soil Q) 7o FIell a1 (4) ATE—AF Ha

(5) Question not attempted (5) SailRa WA |
32-% | Pngn-iaofn o tf
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61. Who among the following Scholar clearly 1. fy=ferRad ¥ ¥ fra fig™ 7 HRY WH >

described the “Great Highway from Susa to

'-mﬁmﬁaaﬁﬁﬂsﬁmﬁf"mm

86. Which of the following surfaces has Albedo

below 20 percent?

(1) Dry earth and grass

(2) Old snow and thick cloud
(3)' Fresh snow and thin cloud
(4) Wet earth and forest

(5) Question not attempted

67. The term ‘Swidden agriculture’ is related to -

{1) Livestock farming
(2) Shifting agriculture
(3) Plantation agriculture
~ (8) Mixed farming agriculture
(5) Question not attempted

67.

frfefag o ¥ fg Gde o1 Ufessr 20 yfoer
q F9 BT 87 f

(1) = 9% tg o9

(2) qRF! fe9 U9 wed qge -
(3) aro 29 Tq faver 9t

(4) =™ 4% gg a9

(5) FaRa e

"Rae Y w8 &7 T & —

(1) gy Y |

(2) TR SN 9
() e F |

@) i3 o |

(5) IrgaiRe o=

Sardis” of the Persian Empire in his book? T A qU o TS A fpar?
(1) Eratosthenes (2) Hecataeus (1) WA (2) ¥fea™
(3) Anaximander (4) Herodotus (3) AT (4) ecH
(5) Question not attermpted (5) 3R w¥A

62. The following climate diagram of Winnipeg city 62. fafdrT wrer &1 fA=foiRaa STerag NG T

represents - g — -
AR HHARHH:
T AT LIN LI, & T LIALTLLIN L LYo
— Oy S EENANSEEEVEE b g
S ATy s ENVEREEEEA NN N
e VOO s » EEANEENENENE P
oS P
£ HHHHHHH S E AR
s b = R aRaREES
] ¥ MENEEEEEERERE
T “ug , L
o | k=t
’F“AﬁéﬁTﬁgn"D uJFHA:éF‘:ASUHD
(1) Middle—-ljatitude Desert Flimate e (1) FA—arEiet iy e
(3) Middle-Latitude Steppe Climate (3) TR R T
(4) Mediterranean Climate (4) w_m m
(5) Question not attempted (5) sraRa oA y

63. As per Koppen’s Climatic Classification, mid- 63- ®1U9 & oy FHT & IJPAR, Sl A
latitude wet and dry climate with cold winter has FJ S G T JEHAY AW TN YD
been symbolized by - ey 9 &9 udie & <oigr 747 €7
(1) Cw 2) Cf (1) Cw (2 Cf
(3) Df (4) Dw (3) Df (4) Dw
(5) Question not attempted (5) Ig<Ra g *

64. Which among the following pressure belts have 4. ffoRaa # & &= gam@ ufei &t 0T HH:
been formed due to dynamic and thermal factors Tfae T AU BRI H AT 87
respectively? (1) gd S= =01 SUvHiceEg 9=
g; gﬂ:f hig,hc:;’:j S"b'“:Pi‘;al l;ijgh (2) SuwERey S= qu yd 9=

ub-tropica® nigh anc polar high (3) TG 74 a1 gaig =

(3) Equatorial low and polar high b e .

(4) Sub-polar low and sub-tropical high (8) ST T USTHICAR I

(5) Question not attempted (5) Irgara o
65. From Mackinder’s book, which Geographertook ~ 65- #f&%ver ! J&i® W &9 yileraw 3 ‘gey &

the word ‘Heartland’? vreg forar?

(1) Karl Haushofer  (2) James Fairgrieve (1) &Tel BN (2) o= Bywfg

(3) Rudolf Kjellen  (4) A'T. Mahan (3) TeIcH Bulc  (4) v wRE
(9 Question not attempted - (5) 3raRd Ue

‘* Page 14 of 32
4

88. Among the following which district have density ~ 68- oo ¥ 2011 & STIUFT @ IFFER,
of population less than 100 in 2011 Census in 4 ¥ e O &1 s=aer g9 100 | A
Rajasthan? 14
(1) Churu (2} Pali ) g% (2) greit
(3) Barmer (4) Jodhpur (3) TR (4) ShEqR
(5) Question not attempted (5) sgalRa o=

69 Which of the following are the subject matter of ~ 69. fpfoiRad ¥ ¥ FFR woeER Ta B
Positivism Geography? fasgawg &7
(A) This is also called empiricism. (A) 39 JgHaas A FET o 2|
(B) 1t is the antithesis of idealism. (B) ¥g 3ncyag & el &

(C) It was founded by Auguste Comte. (C) THS! ®ITYT IAFRE Die A 3 oY |

(D) It opposes authoritarianism. (D) I8 AfRFIHare o7 Oy ovar 2|

Code - o€ —

(1) (B) and (C) () (A), (B), (C) and (D) () B) 3R (C) (2) (A), (B), (C)3IR (D)
(3) (A)and (C) (49) (B), (C) and (D) 3 (A) R (C) (4) (B), (C)3iR (D)

(5) Question mot attempted (5) aRa v e

70. Ideal condition/s for radiation temperature 70. WY BT ¥ AP ATGHA YOPHYT DI AT
inversion during night is/are — ffar ach 2 /8 —
(A) Clear sky (A) T BT
(B) Cold dry air CESE
(C) Windy night (C) O &aT TTeil NI
Select the correct answer from the code given e Ry U B 9 9 Qe o1 T
below - 3 DT —

Code - [T —

(1) Only (C) is correct (1) F5a (C) 92 B

(2) (B) and (C) are correct (2) (B) T (C) Tdr &

(3) Only (A) is correct ) Fac (A) & 7

(4) (A) and (B) are correct (4) (A) < (B) WEY &

(5) Question not attempted (5) aaRa W
32-% Page 15 of 32
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71. Which of the following theory/model is based on
Geomorphic threshold and complex response
concept?

(1) Dynamic Equilibrium theory
(2) Episodic Erosion theory

(3) Composite model

(4) Tectonic ~-Geomorphic model
(5) Question not attempted

72. National Technical Textile Mission is associated
with -

(A) Agrotech

(B) Sportstech

(C) Infotech

(D) Meditech

Select the cormrect answer from the code given

below -
Code -
(1) (A), (B) and (C) only
(2) (B) and (C) only
) (A), (B) and (D) only
4) (A) and (D) only
{8) Question not attempted
73. Who said, “The use of soil for house and roads
is unproductive”?
(1) E.C. Semple (2) Jearf Brunhes
(3) Vidal de L.a Blache (4) F. Ratzel
(5) Question not attempted
74. Which one of the following is correct sequence
of Lakes in Rajasthan from North to South?
(1) Foy Sagar — Mandal Tal — Gaib Sagar —
Fateh Sagar

(2) Gaib Sagar — Fateh Sagar - Mandal Tal —

Foy Sagar

(3) Foy Sagar — Mandal Tal — Fateh Sagar —
Gaib Sagar

(4) Mandal Tal — Foy Sagar — Gaib Sagar —
Fateh Sagar

(5) Question not attempted

75. ‘Desertification and Land Degradation Atlas of
India-2016’ has been published by -

(") @3 (A), (B) T& (C)
(2) 391 (B) Td (C)
(3) Ba (A), (B) Td (D)
(4) et (A) T& (D)

(5) IR e

73. e @al, Wmmﬂ@ﬁa%ﬁwﬁ@ﬂﬂ

SN SES 87
(1) £ J=a (2) S ged
(3) faere & o =@ () U%. Yeud

(5) FgalRa U

74. fyfafag & ¥ IO @ Aell BT SR 9

75.

2fRor e & 9 H9 oar 27

(1) g IR — Hied did — 314 IR — e
HR

(2) #9 IR — BaE 9FR — #isd did — B
AR

(3) B YRR — "isd el — Bag 4R — 119

(8) Higer Tl — BF IR — 14 97X — Gdg

AR
(5) aRa we
TCa9—2016' &1 TS feas gRT forar mar?

76. Which of the following Geographer/s is/are

associated  with  the  Principle of
Uniformitarianism?

(A) Hutton

(B) Playfair

(C) Lyell

Sellect the correct answer from the code given
below - |

Code -

(1) Only (A) (2) (A) and (B) only
(3) (A),(B)and (C) (9 (A)and (C)only

(5 Question not attempted

- Who among the following Roman Geographers

largely contributed in Physical Geography?
(1) Strabo (2) Solinus

(3) Polybius (4) Firmanus

(5) Question not attempted

. In which year the Brundtland Report related to

sustainable development was presented?
(1) 1985 (2) 1986

(3) 1988 (4) 1987

(5) Question not attempted
Clouds that are usually formed either by loss
of heat or by the mixing of air masses with
different temperatures, are -

(1) Stratus clouds (2) Nimbus clouds

(3) Cirrus clouds (4) Cumulus clouds

(5) Question not attempted

80. From given points related to rocks, select the

(1) Only (A) and (C)

correct statements from the code given below -

(A) Igneous rocks are primary and crystalline
rocks.

(B) Loess is a sedimentary rock and is
crystalline.

(C) Marble is a metamorphic rock.

Code -
(2) Only (B) and (C)

(3 (A),B)and (C)  (4) Only (A) and (B)

GET IT ON
Google Play

76 Prfafm § @ BEE/Q e

vHeIaEE & figia o Gdtd 8 /87
(A) &S
(B) ©IHIAR
(C) =i
A Ry TN Hie § W TR BT 947 P —
a?_.
(1) ®ad (A) (2) Bae (A) 7T (B)
(3} (A), B)T=NM(C) (4) Dact (A) T (C)
(5) argaRa geA
77. fpafafgd d 9 e
AT Af¥Hiw: AMae e F ar?
(1) & (2) wfems
(3) dieifeas (4) g
(5) FgaRa 9¥A
78. waq Ui e ¥ Wi aa'ae Rare
fre af weqa B TS 4
(1) 1985# (2) 1986 #
(3) 1988 # (4) 1987 #
(5) FaRa ge

79. e W 9ENGG: AT SST @ §q9 Al
ITT—3ETT 99 U 4T g9 @ U9
FifBaeN YT E T8 -

(1) @ 3 (2) auf Ay
(3) gEm Ay (4) HurlY F=
(5) saRka A

W-a@ﬁﬁwﬁaﬁvwﬁw
T o 9 & FAE BT 7999 DIY —

(A) gﬁﬁumﬁwﬁﬁﬁﬁmﬂsﬁaﬁ
|

(B) gﬁwwmm%ﬁhwa‘cﬁ
1

(C) TR TP HIATIRG 98 B |

qa_

(1) a4 (A) T (C) (2) Iaa (B) a1 (C)

(3) (A), (B)TN (C) (4) Das (A) T (B)

79,

(1) ISRO (2) NRCAH (1) ISRO (2) NRCAH
(3) NATMO - (4) CAZRI (3) NATMO (4) CAZRI
\ (5) Question not attempted (5) a;aﬁﬁa 0
o '
"X Page 16 of 32
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(5) Question not attempted (5) IguiRa weA
B1. Which onme of the following pair 8- fmfoiEa # & a1 g QW — A &7) TS

(Country - Qil Field) is not correctly matched? gifera w8l &7
(1) Iraq - Qatif (1) |H — HAD
(2) Saudi Arabia — Ghawar (2) HSHY IRT — °HR
(3) Iran — Gachsaran (3) H — TEEH
(4) Kuwait — Burgan (4) Fdd — T
(5) Question not attempted (5) Slﬂﬂﬁﬂ U
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82. Steep slope of V-shaped valley is an example
of -

(1) Primary slope (2) Tertiary slope
(3) Secondary slope  (4) Quaternary slope
(5) Question not attempted

83. Wentworth scale is related to -
(1) Wind velocity
(2) Hardness of rocks
(3) Grain size of sediments
(4) Tidal range
(5) Question not attempted
84. Banjari and Laxmi of Jaipur district are mining

-
K

areas/mines of -
(1) Gypsum (2) Silver
(3) Mica (4) Dolomite

(5) Question not attempted
85. Identify the marked part in the following

diagram of fault’s components and match it with

the list given below -

(1)
(1)
(1)
(iv) Hade

(1) (A)-ii), (B)-(i), (C)-(ii), (D)-(iv)
(@) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
(3) (A)-(i), B)-(ii), (C)~(iii), (D)-(iv)
(4) (A)iv), (B)-(i), (C)ii), (D)-(iii)
(3) Question not attempted

86. The main cause of existence of Doldrum belt is -
(A) It lies in cold regions

(B) High temperature and low air pmsum
(C) Wind is calm here most of the time

Select the correct answer from th ]
beloss m the code given

Code -

(1) (B) and (C]JIare correct

(2) (A), (B) and (C) are correct
(3) Only (A) is correct

(4) (A) and (B) are correct

(5) Question not attempted .

82. §_anpe ) T FT TSI B SABT & —

{1) woifes e & (@) TS I BT
@) s o &1 @) TS I B
(5) argaRa weA
. g A9e AEfRIT & —

(1) yg9 3T 9
(2) T o FoRaT A
(3) aeoe @ HU D AHR A

4) S 39 |

(5) IgiRT weA 1

-Grag'\'g ﬁlﬁaﬁmwaﬁwm/ﬁﬁ_'

(1) forogs a9 (2) dfdr I

(3) IyF H (4) SHEE B

(5) T weH _
-mﬁ$meaﬁ$ﬁﬁﬁ-ﬂzﬁﬂmﬁmﬁ?ﬁi -.

(i)
(i) =fa

(iii) gTEdEY

(iv) S99

(1) (A)-(ii), (B)-(i), (C)-(ii), (D)~(iv)

(2) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
() (A)-G), (B)-(i), (C)-(iii), (D)-(iv)
(@) (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii)
(5) srgaRa e

SIAgH 9o ARTE BT 5@ BRI T —
(A) IE ovs Ul ¥ g &

(B) = T T 47 91y
(C) IET WIEeR I o -‘ra-c‘i’r 2
@ i

(1) (B) o1 (C) 9y &

(2) (A), (B) T (C) 9 #

(3) aeT (A) ) 2

(4) (A) T (B) WeT €

(5) IrguRa we - ”"
e
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87. Off-shoring activity is related to -

(1) Data processing  (2) Transport

(3) Space (4) Tourism

(5) Question not attempted

88. Which one of the following is not an approach to

Human Geography?
(1) Postmodernism in Geography
(2) Spatial Organisation
(3) Regional differentiation
(4) Map Projection
~ {5) Question not attempted

89. Which is suitable for prediction of weather?
(1) Median (2) Mode
(3) Mean (4) Standard Deviation

(5) Question not attempted

80. Which of the following book’s approach is

deterministic?

(1) Principes de Géographie Humaine

(2) Geography and the Social Science

(3) Anthropogeography

(4) Geographical Introduction to History
(3) Question not atternpted

91. Match the following amd select the correct

answer from the code given below -
Agro-Climatic Zone Soil Type
(A) Arid WesternPlain (i) Brown Red Rocky

(B) Irrigated North-West (ii) Black
Plain

(C) Sub-Humid Plain (ii1) Dark Red Rocky
(D) Humid Southern Plain (iv) Sandy
(E) Humid South-Eastern (v) Alluvial
Plain *
Code -
(1) (A)-(ii), (B)-(iii), (C)-(v), (D)-(i), (E)-(iv)
(2) (A)-@ii), (B)-(v), (C)-(i), (D)-(iv), (E)-(ii)
3) (A)-(iv), (B)-(v), (C)-(i), (D)-~(iii), (E)-(ii)
@) (A)-(i), (B)-(iii), (C)-(iv), (D)-(u)r (E)-(‘V)
(5) Question not attempted =

GET IT ON
Google Play

. |

87. aifp—gif RIRAR Wit & —

(1) afte<t @1 gavmor (2) uReas |
.\q. .
(3) siaRe &
(8) argaRa WA
88. yafofaa & & @ t& AFa A &I
IURTH T8 87

(4) 7geT 9

(1) e 3§ IR AgfHwaEas
(2) wnfae e
(3) &g favre=
(4) s=fara weaor
(8) aFgafka weH

89. Hew o Afdsgarh & o Suwyga ? —
(1) mfeaemt (2) Tga>
(3) #rey - (4) 995 fAgas
(5) IRT wHA

0 frafafaa @ @ 59 g @1 sfeam
Freagardy 87

(1) Rt < SRS A

(2) SIS YU § ARTA 9159

() g

(4) Sfhed Soreae™ ¢ [’

(5) IgaRa aw=
9. fafafea &1 gafera e o = R v

BT W HE SR BT I DI —

PR—Sicaryg wew et TR

s (A) I Ui M (i) T T 9l
B) Rz STR—uf¥=rfi (i) Heh

A :
(C) Su—3s Vg™ (i) TET ATl TEe
(D) I Rl AT (iv) TSN _‘
(B) amd ZRo—gdt =M (v) Sae
‘@ —

(1) (A)-(ii), (B)-tiii), (C)-(v}, (D)-(1), (E)-(iv)
(2) (A)-(iii), (B)-(v), (C)-(1), (D)-(iv), (E)-(ii)
(3) (A)-(iv), (B)-(v), (C)-(i), (D)-(iii), (B)-(ii)
(@) (A)-(i), B)-(iii), (C)-(iv), (D)-(ii), (E)-(v)
(8) IroiRe W=
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92. Match List-I with List.1l and select the correct 92 gl 2 gl 3 &1 gy @ &R i
answer from the code given below - ﬁqqqqaﬁﬂaﬁwmmﬂﬁ—
List-I List-1II e g
(Candolle Plant (Koppen Climate (odre o7 (@1 BT
Classification) Classification) Faafy FfiEvo) EELL i) +.
(a) Mesotherms i) A (a) dvent i) A o
(b) Megatherms (i) B (b) TR i) B
(c) Microtherms (iii) C (c) gt (i) €
(d) Xerophytes (iv) D (d) SRPEE (v) D
Code - 7T -

93. Which of the following ocean current system

- World map of Claudius Ptolemy was drawn on

= |V

(1) (a)-(ii), (b)-(iv), (c)- (1) (d)-(iui)
(2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(i1)
(3) (a)-(iii), (b)-(iv), (c)-(i), (d)-(i1)
@) (a)-(ii), (b)-(i), (c)-(iv), (d)-(n1)
(5) Question not attempted

(5) arRa y=

sequence of South Atlantic Ocean is correct? P TE GRT T BT A A 87 ]
(1) West Wind Drift - Brazil Current - Benguela (1) oReelt Ty Ware — S HRT - ﬁ'T&in
Current - South Equatorial Current ERT — SR HERE HRT

(2) South Equatorial Current - Benguela Current
- Brazil Current - West Wind Drift

(3) Benguela Current - Brazil Current - South
Equatorial Current - West Wind Drift

(4) South Equatorial Current - Brazil Current -
West Wind Drift - Benguela Current

(5) Question not attempted

which projection? 91T T4 Aa17

(1) Modified Conical ivs (1) FNRE JEHR

(2) Polyconic (2) sgTigER!

(3) Cylifidrical Equidistant (3) YATHR AR
(4) Cylindrical Equal-area (4) SR W9 8%
(5) Question not attempted (5) IgaRa ¥

(1) (a)-(ii), (b)-(iv), (c)-(), (d)-(ii1)
(2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(i1)
(3) (a)-(iii), (b)-(iv), (c)-(0), (d)-(i1)
(@) (a)-(ii), (b)-(i), (c)-(v), (d)-(ii1)

ﬁmmﬁamaﬁﬁﬂﬁlﬁmﬁﬁ

@ < et o - e o —1

94. ﬁﬁﬁﬂﬁﬁéﬁfﬂﬁﬁﬂﬁﬁammw

95. According to Census 2011, in which district of ~ 95- SFIVFT 2011 & FTER, IR P ﬁ?ﬁﬁ
Rajasthan the Rural and Urban sex ratio is ﬁmmﬁwmm’rﬁﬁ? "
highest respectively? (1) AreareT — ﬁﬁw
(3) Pali — Tonk A . .

(4) Rajsamand — Banswara (4) ASTHAT — ST
(5) Question not attempted - (5) Glﬂﬂﬁﬂ Az
32-% Page 20 of 32
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96. Result of differential erosion are -
(A) Structural Benches
(B) Mushroom Rock
(C) Incised Meander
(D) Demoiselles
Code -

(1) (B) and (D) (2) (B) and (C)
(3) (A)and (C) (4) (A) and (D)
(5) Question not attempted '

97. In asymmetrical frequency distribution, the
correct formula to express the relation betwegn

- arithmetic mean (X) , mode (Z) and median (M)
is -

(%) R_M (2) 3y — 3R+2

z o
@) Z= 3M 4 Z=2M-3X
(5) Question nut attempted

88. If the statement of scale is 1” = 2 Furlongs, then
# " what will be the R.F.?

(1) 1:15840 (2) 1:16000
(3) 1:14000 * (4) 1:15240
(5) Question not attempted -
89. Which one of the following (Book - Author) is
not correctly matched?
- (1) Air power : Key to Survival — D. Seversky
(2) Development in Political Geography —
A. Burnett
(3) The New World — Isaiah Bowman
(4) The Corridors of Time — H.J. Fleure
(®) Question not attempted
100. “Movement involves a change of residence for
substantial duration”, who among the fuﬂnmg
stated this?

(1) Clark (2) Berklay
- (3)"A.V. Perpillow (4) Donald J. Bogue
(5) Question not attempted

101. Which one of the following pair (Ocean - Island)
is correctly matched?

Ocean - Island
(A) Atantic - Fiji
(B) Arctic - Bear
(C) Indian - Kerguelen
(D) Pacific - Guam
Select the correct answer from the code given
below -
Code -

(1) (A), (B), (C) and (D)
(2) (A), (B) and (D)
(3) (B), (C) and (D)

GET IT ON
Google Play

. fA99% aruRes &1 aRuM € —

(A) HEATS BIfoHN

(B) B3® el ‘

(C) Iafda faad

(D) T&™

@';

(1) (B) 3R (D) (2) (B) 3R (C)

(3) (A)3IR(©) 4) (A) 3R (D)

(5) IFgaRa ueA

JEAAT IRIRaGT fAoRor § YRR A
X), 981 (Z) 7T AfeasT (M) @ §1"9 I
UHC B &1 HE G & —

= 2M-Z

(™) %= " @ - Bz

{3) Z - 2X 4 Z=2M-3X

{5) a‘jﬁﬁam
- IfE FYATHD AYS 1”7 = 2 BT P ST
g, °r ufafAf = R.F.) 2 -

(1) 1:15840 (2) 1:16000

(3) 1:14000 (4 1:15240

(5) T W -

. Preafefaa ¥ ¥ S (@W@F — dEw) TR

Tl 37

(1) TR U : & T Halgad — I IOl
(2) STagde 39 difalRea U™ — T s
) T Y Io8 — FUNE I

@) T FIRSH AP 2=7H — @A, ®oR

(5) Jgula v

100. “yqrg Us WHTd w99 @ forw A w©ne &1

101.

IR Fearar 87, I8 U fFrefofag ¥ 9
faer 27

(1) T (2) T5a |
(3) T4l W= (4) SFIcs . T
(5) Fgala u&

fF=feiRaa & 9 9T
. g? ﬂ‘ﬂ(ﬂmm &)

__g"-q-
(A)Qearﬁ’ﬁ —  fon
B) I@RF — W
ﬁ%mwaﬁﬁ%ﬂwaﬁm—
F..

(1) (A),B),(C) W™ D)
@ (A), (B) W@ (D)
3) (B), (C) W@ (D)

L

LS
|
1
)

(4) (A) and (B) @) (A)TE(B)
(5) Question not attempted (5) SrgaRa weA
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102. In India, thematic maps are prepared by -
(1) Remote Sensing Agency, Hyderabad
(2) Survey of India
(3) Thematic Mapping of India
(4) NATMO
(5) Question not attempted

103. Which of these is an Equal Area Projection?
- (A) Polyconic

(B) Bonne’s
(C) Sinusoidal
(D) Polar orthographic
Code -
1) (A) and (D) (2) (B) and (D)
(3) (B) and (C) (4) (A)and (C)
(5) Question not attempted

104. Which of the following is true about arithmetic
mean?
(A) Does not depend upon all values of a series.
(B) Suitable in correlation method.
(C) Obtained value is in both decimal and full

number. |
(D) Suitable for studying proportion and
percentage.

Code -
(1) (B) and (D) (2) (B) and (C)
(3) (A) and (D) (4) (A) and (B)
(3) Question not attempted ;

105. ‘Radiosonde’ instrument is associated with -
(1) the study of surface of the Earth '
(2) the study of atmosphere

(3) the study of interior structure of the Earth
(4) the study of ocean

(3) Question not attempted
106. Debris controlled slope is called -
(1) Convex slope (2) Concave slope Y

(3) Rectilinear slope  (4) Free face slope
(5) Question not attempted

102. ey ¥, fawas AR e g1 TR 1

T &7

(1) Rere IR Tolkl, BINEIR
(2) v gdeqor faumT

(3) PMfes M sife SFe
(4) FIew) NATMO)

(5) e weA

103. 5 @ PiaT TS WY R7
(A) TRIGS
(B) &

+ (C) AEgyigsd
D) Y& T
ﬁ_

. M AW D)

() (B) Td (C)
(5) RS weH

104. fpforRae & ¥ P FHRR ARG P AR A
g 87

C(A) siger 3 gt gl ) iR T8 g |
- (B) vEYey fafy § sugw o

(2) (B)TE (D)
4 (A)TE(C)

(C) U< 919 S¥McE 3R QUi e Q1 | Bl

g

D) Iua AR wRwam & orgma @& fog
SUYT B

@_

(1) (B)T@ (D) (2) B)wE (C)

3) (A)Ta (D) (4) (A) T4 (B)

(8) IR g

105. YfeuRif~s' Suavr Hefda & —
(1) 941 & RO & EAIH 9
(2) 9IgAvESd & AT |
(3) Jedl @ ATARS E¥aT & T 9

(4) 995 ggq ¥
(5) Ig=IRT weA

ek 106. 7erer fAEfa ST FEamr & —
(1) ST« aTe (2) Sraae 2T
() oy T T (@) Yo g @
(5) IrgaRa 9ea

107. According to Weber's Least Cost Theory, the 107- &R & ~g-a¥ avTd fagiq & IER, ‘5H FRTd

formula of ‘Labour Cost Index’ is -

(1) Labour cost + Total weight of raw material
(2)-f Total weight of raw material + Labour cost
(3)' Total weight of product + Labour cost

(4) Labour cost + Total weight of product
(5) Question not attcmpted

aPHI® BT G & —

(1) 59 arra + = 9qrf &1 §o1 TR
(2) =0 = FT FA IR + 59 FFE
(3) STfeT a%g HT FoT IR + 5 AN

32-%
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108. A5 per Weber’s Least Cost Theory, if both the 108.3gv ~gAqH < gia @ IR, I <M

raw materials are away from market at a fixed

place and both are pure, then the industry shall
locate -

(1) According to location-triangle
(2) Both (near market and raw material)
{3) Near raw material

{4) Near the market
(5) Question not attempted
109. Which statements are true about Earth’s interior?

(A) Helps in understanding Earth landforms.

(B) Temperature rises with depth at the rate
of 1°C/32 meter.

(C) Shadow zone of ‘S’ wave is less than ‘P’
wave.

(D) Meteoﬁtes. that reach the Earth surface are
indirect source of information,

Code -

(1) (A), B)and (D) () (B), (C) and (D)

(3) Only (B) and (D) (4) Only (A) and (B)

(5) Question not attempted |

110. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).
Assertion (A): India’s export of finished

| steel declined during the year
2024-25.

Reason (R): Low oprices of steel in
international market resulted in
low margins on exports.

In the above context, which one of the following

1§ correct?

(1) (A) is false but (R) is true -
(2) Both (A) and (R) are true but (R) is not
correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are true and (R) is the
~correct explanatiom of (A)
(5) Question not attempted

el 7Te 9K 9 o, ¥ wie ) g gk
& 3Rk 3 gg & O ST @ e Bl —
(1) safRef—PrgsT & Igeu

(2) I (@TTR TW F AT D Fipe)

e (3) T A 9 Fae

4) TR & Fec
(5) FaRa ye=

109. goft & FARF 9T & aR F P YT TA
g? |

(A) qﬁaﬁwﬁﬁaﬁmﬁﬁﬁmm'

2l
(B) TERIE @ WY AI9HH 1°C/32 Hiex 9
Q Tl 2| |
(C) ‘S’ TR &7 BT &7 ‘P’ ORI A FH =l
gl -
D) g & R W Tga1 dil Sediis
I & ycaE 9ia £
ﬁ_
(1) (A), (B)T& (D)
(3) Baat (B) Td (D)
(5) FguRa ue=
110. 9= <7 7 RY 1w & & & 999 (A) 3R
TR D FRT(R) P ©9 § 14T 1 2|
99 (A): 94 2024-25 B TRM 9Rd D AN
s B g § &0 e
SN (R): IS IOk J§ i & o4
DAl & SRV AfT ST AT 9
& T
SWIT Wed ¥, Frafafaa § ¥ oFar e 9
-4
(1) (A) Tad & dfed (R) W) & -
(@) (A) @ (R) <F1 W& & AfdT R), (A)
el WRAT 781 B
(3) (A) T& ? afdT (R) o &
(4) (A) TN (R) T W& & O (R), (A) B W&
e 8

(5) IrgiRT weA

(2) (B), (C)Td (D)
(4) Daal (A)Td (B)

32-%

Page 23 of 32

GET IT ON
Google Play

ed with OKEN

(G scann


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

= |V

Adda

111. Consider the following statements and select the 111

correct answer from the code given below -

(A) Karbi Anglong is a part of Peninsular
Plateau of India.

(B) Indian desert region was under sea during
Mesozoic era.

(C) Eastern Indian coast i1s favourable for
development of port and harbour.

(D) Ritchie’s Archipelago 1s in Arabian Sea.

Code -

(1) B),(C)and (D) (2) (A)and (B)

(3) (B) and (C) (4) (A), (B) and (C)

(5) Question not attempted

112. Which among the following is a towm of 112

Mesopotamia?

(1) Thebes (2) Fostat
(3) Kahun (4) Erech
(5) Question not attempted

113. In which census year, information on causes of 113.

Prfeae el o feR Afrg qer A= Ry

QT e @ ITANT FN@ WEl Sk DT HIT

(A)asr;‘fmﬁmmﬁa%nrﬂtﬂﬂ'ﬂmﬁ
fR=am 21

(B) ﬁﬁ@za:ﬁgn%mmﬁuqﬁmﬁm
® | o |

(C) TR gﬁ o 7 TR B Rew @
IR =

(D) R ioe9E 3R AR # € |

ﬁa_ .

(1) B),(C)TE (D) (2) (A)TE(B)

(3) (B) T4 (O) (4) (A), (B)Ta (C)

(5) rgaRa we

fr=forfaa ¥ 9§ S J9uef™T &1 TR 87

1) a¥w (2) g

® s (4) R

S) IR we

ARA H WA & SR IR G DT Jaa9 {69

migration was included in India? ST 99§ fhar e
(1) 1881 (2) 1981 | (1) 1881 (2) 1981
(3) 1971 (4) 1961 i 3) 1971 - (4) 1961
(5) Question not attempted : (5) R e
114. Absolute humidity . 114. oy
Humidity capadity X 100 is called - mm X 100 HEAT & —
(1) Saturated air (2) Specific humidity (1) Hg< arg (2 faRre amsar
(3) Absolute humidity (4) Relative humidity (3) =0T angar (4) amfdis amgdrn
(5) Question not attempted (5) 3g<iRa us=

115. Match the following Scholars according to their 115

respective Books and select the correct answer
from the code given below —
List-I (Book)
(A) An Outline of Geomorphology
(B) The Unstable Earth |
(C) The Surface History of the Earth
(D) Earth’s Dynamic System
(E) Principles of Geology
List-II (Scholar)
@ J. Joly
(II) J.A. Steers
(II) Wooldridge and Morgan
(IV) G. Waters and Woodford
(V) W.K. Hamblin
Code -
(1) (A)-IV), B)-@), (C)-I), (D)-(V), (B)-(II)
(2) (A)-(ID), (B)-(Im), (C)D), D)-(V), (B)-AV)
(3) (A)-(IID, (B)-(I), (C)«D), (D)-(V), (E)-IV)

(4) (A)-OD), (B)-(I), (C)-(X), (D)-(IV), (E)-(V)
(5) Question not attempted

fr=foRaa faget &1 o9 w=iw gws
wgﬁ%ﬁﬁqw%ﬁqwaﬁiﬁ
SR BT 9949 DIfoIg —

a1 (gx)
(A) T ISR IATH Gl
(B) § 3 %csar 3

(C) T Uy B 3ifp § anef
(D) 3= sIEAfAe Ried -
(E) fIIued 3w foraeion

gﬁ’k I (RE™)

(1) o Sifell

() g 4

(i) aﬁ_}@ﬁﬁh
(Iv) <. . 7S gehis
(V) S=uo. afte

@ —

(1) (A)-(V), B)-(I), (O)-(I), (D)-(V), (B)-(IIT)

{2] (A)'(II): (B)—{]ID, (C)'(Ds (D)'(V), (E)'(w)

g; Ei)%% g;-E%, (C)-(D), (D)-(V), (B)-(IV)
)-(111), (B)-(11), (C)-(I), (D)-(IV), (E)-

® ® (IV), (B)-(V)

™
r .-.i_'l i .'-
] =
¥ - "
iR i -

116.

117.

1 M|5I

119.

As per Weber, a line of equal transport costs for
any material or product is called -

(1) Location-Triangle (2) Isodapane

{3) Critical Isodapane (4) Isotim

(5) Question not attempted

The districts included in the Agro-Climatic
Region III-B of Rajasthan is -

(1) Alwar, Bharatpur, Dholpur

{2) Jaipur, Ajmer, Dausa

(3) Kota, Jhalawar, Baran

(4) Bhilwara, Rajsamand, Chittorgarh

(5) Question not attempted

The Department of Soil Survey in India was
established in -

(1) 1953 (2) 1960

(3) 1954 (4) 1956

(5) Question not attempted

Consider the following statements regarding
Carl Ritter - |

(a) Teleological views

(b) Anthropocentric view of geography

(c¢) Supporter of the Reine geography

(d) * The concept of Landerkunde

-Select the correct answer using the code given

120.

121.

below -

Code - . m
(1) (a),b)and(d)  (2) (a) and (b) TN
(3) Only (a) @) (a), (b) and (¢)

(5) Question not attempted

116.

117.

118.

119.

GET IT ON
Google Play

IR D IR, fFE A geRl a1 SwOTe B WHH
GRaEs arTd P & Heand & —

(1) saRufo—Pgsr (2) IngHreA

(3) wfas agenT (9 smgefew

(5) 3IFRT ueA

G & H—wiararg U -8 7 affferd
forar & —

(1) Ja®R, AR, GagR

(2) STOQR, IR, ST

(3) @icr, HATTNaTS, IR

(4) Aearer, Towse, RieTe

(5) sgeiRa w¥

AR H T FIOY f3ATT B W9 F9 g3 A7
(1) 1953 % (2) 1960 % |
(3) 1954 - @ 1956

(8) IgaRa U

o Rex & d=4 & Fr=falaa $9ET ) faeR
Pifolg —

(a) 3STaX SETAS) faamEmRT
(b) WIS BT AFG—df=d glRSHIOT

(c) U5 Thd & ISP
(d) <ISIHS B FFEURON

e e T | B GEIAT § HEl SR B
a9 BT —

Chambal 65 and Mangla are high yielding 120- /et 65 TAT el 9o 99 39 areh foved B

variety seeds of -

(1) Wheat - (2) Jowar
(3) Rice (4) Bajra
(5) Question not attempted

Which of the following Landform is not formed

by running water?

121.

@ -

(M (a), (b) 3R (d) @ (a) 3R (b)
(3) I (a) (4) (a), (b) 3R (c)
(5) IaRa U

ot & —

(1) ¥E 3 @) W= R 3

(3) uraa B (4) IO B

(5) IuIRa W

fr=fafaa 4 @ o y—arsfa yaRa oa
g A i 87

(1) Canyon | (2) Tamn Lake (1) s (2) eF 9
(3) Plunge Pools (4) Gorge Q) JFAf e @) Wt
(5) Question not attempted (5) IFRa we=
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122.The comect group of Geographers who

contributed to the development of Unified Field TR vl &1 WE W ¥ (Minerals - Mining Afﬂa) is correctly matched? w8 gAfera &7 3
Theory is - _ e - (1) Petroleum - Lunej (1) ¥ — g S
(1) S.B. Jones — D. Whittlesey — Hartshorne — () wEd. se - S m (2) Coal - Bassein (2) Fraer — A

Gottman Titeds | (3) ‘Iron - Singrauli (3) e — R
(2) ';hﬂ}'ﬂ Mahan — Mackinder - 5.B. Jones - (2) qR TN - Afpver - Tl W - (4) Bauxite - Gorumahisani (4) diqarge — MEARRTR!
(3) ﬂ)ima — Karl Haushofer — Ratzel - WD ) sisytion agt stlenposd 8) argaRa 7

Kjellen

(3) ST — Fret BT — Yo — Borer

127. Which one of the

following  pair

128. Match List-I with List-II and select the correct

127. R 3 & P AW (@R — @ 8)

128. gl —| o -1 & W GAferd B AR

4) g.:._islunes — Cohen — Richard Moore - @) T T — I — RS W — FIoEA '.1': ““3“’::;".‘;"‘ the code given below — feg %T ¥ TEY SR P 947 N —
on "
(5) Question not attempted - ) IgaRa yE (Type of Faults) @Y B TPR)
123. Mangalam Cement Limited is located in - m 123. s Wi fafics erafed @ — (8) Sinistral Fault (a) fefrea w91
(1) Modak - (2) Dholpur (1) Ares 3 (2) R 3 (b) Reverse Fault (b) gopd HA
(3) Bhiwadi ~ {4) Alwar (3) fyard (4) IR H (c) Normal Fault (c) g H
() Question not attempted (5) s we | (d) Dextral Fault (d) STHg H

ed with OKEN

124. Which of the following objectives is/are related 124 fyr=firRag ¥ ¥ Frar/J o 78 RGN List-l1 S

to the New Population Policy-2000? fR—2000 J-Filg & /&7 (Displacement of Rock blocks) (1 Evel @1 fawans)
(A) To provide compulsory education to (A) 147§ T & T=i P fEd RET "E (i) Inopposite direction (i) foda feem 4

children upto 14 years of age. BT | | ¥ (ii) Occurs to the left side of the fault plane (ii) 997 9] & 94T 3R BT 2
(B) To reduce pregnancy related female B) TEET ¥ WG AR g o (i1i)) Towards each other (iii) TP TR B AT

mortality rate to less than 100 per lakh. - 100 YR oG X BH S| (w)Occurstuthenghtmdeufthefaultplane (iv) B9 acf @ SR 3R Bar @
(C) At least 80% of births should take place C) TW I B9 80% W B Rt o Code -

within hospital premises.

E -
(1) (@), (b)-(1), (c)-(iid), (d)-(iv)
(2) (a)-(ii), (b)-(ii), (c)-(i), (A)-(iv)

IR ¥ g T

(1) (@)-(), (b)-(i), ()-(iii), (d)-(iv)
(D) %ol SRS <X Bl 2.1 & TR0 &R |

(2 (a)-(id), (b)-(iii), (c)-(3), (d)-(iv)

(D) Bringing the total productivity rate to the
replacement level of 2.1.

Code - % | . (3) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii) m (3 (a)-(iv), (b)-(iii), (c)-(i), (d)-(i)
(1) (A),B),(C)and (2 (B), (C)and (D) f¢ — A @) (a)-(iv), (b)-(0), (c)-(iii), (d)-(ii) @ (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
o) (1) (a;)a (B), (C) IRD) @ B),(C)3IRD) (5) ‘Question not attempted (5) R W&
(3) Only (D) (9) (A), (C) and (D) (3) Ha (D) @A), ©)IRD) 129, Wh - P
® Quetion ot atectpted v . . Which of the following agriculture regionisalso  129-f=ifoifaa % @ =W o wewr "faww =

known as “heart of world’s wine industry”?

125. “A race means a breed, not culture”, who among ~ 125-* mﬁﬂﬁﬂﬁmﬁﬂ’r% 7 5 e By, avhaiicad d SUSLA LR R AL

| : (1) Commercial Plantation Agriculture Regions ST 27
the foll
{ 1: 3_ owing stated this? T8 Hof [T o 9§ fawar 27 (2) Sugarcane Producing Regions (1) FiRTs IR FHY el

idal de la Blﬂﬂhﬂ (2) A.R. Kroeber (“ fasﬁf @ ol E’“ﬁ (2) QGTR El'f'lﬂ? T (3) Commercial G Farmin A ul (2) IATEH m
(3) A.C. Haddon (4) G. Taylor (3 T 7T (4) ot SR Regions i . gnc e Wﬁ — # <t BN IE.‘?T
() Question not attempted (5) IR e ' - S
_ o _ it (4) Mediterranean Agriculture Regions 4) Y eIaTIY
1 fnte the ct‘me;laﬂsequelflrc: of main cities of 128 T m j%qpf $ Y TR T W b (5) Question not attempted N :5) gﬁﬂﬁ ES] oy
rans Canadian Railway from East to West - - i aﬂﬁqﬁl@-— 1
(1) Vancouver - Winnipeg - Quebec - Halifax (1) FaR — R — Toyw — 2 | -. 130. The propounder of “Stop and Go Determinism”  130- 3! 3R ool FraftA” @ wiiues 9 —
::: Qﬂﬁﬂc - Halifax - Winnipeg - Vancouver (2 7% — e — R — o 0 E?SL Fe @ £ Huntiol (1) 7. bR (2) §. #ferea
ax - Quebec - Vancouver - Winnipeg () eferdes — FgET — Fgav - ﬁﬁﬁ'rr OOV - SYROOg 0 ) . S 4) frfdper eoR

(4) Hahfax - Quebec - Winnipeg - Vancouver @) ferday — T@EF — RAfrT — - @) EC. S‘temple (4) Griffith Taylor - i |
(5) Question not attempted (6) arERe T . - {5) Question not attempted NG
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131. Which of the following group of states recorded

decadal population growth rate below 10% as
per Census 20117

(1) Goa and Punjab

(2) Goa and Kerala

(3) Himachal Pradesh and Sikkim
(4) Kerala and Sikkim

(5) Question not attempted

132. Which one of the following states receive flood

during winters?
(1) Kerala . {2) West Bengal
(3) Tamil Nadu (4) Andhra Pradesh

(5) Question not attempted

133. Apart from Weber, which other Geographer
presented locational triangle for industrial

location?
(1) A. Fetter (2) Hoover
(3) Isard (4) Smith

(5) Question not attempted
134. Consider the following statements and select the
correct answer from the code given below -
Statement (A): The concept of differential
heating about the origin of
Indian monsoon was given by
Halley.

TN

(5) srgeiRa Wwed
1ﬂmﬁ%mmﬁﬂﬁu‘rﬁmm
7 5
(1) (2) qf¥er e __
(%) e () o FRY
(5) e ued
133. 3% @ AfiRem, s 59 pieran A e )
sy @ fR) srfufy Brw wge e
(1) T %R (2) g
) zoe (4) =1
(5) Ir=iRa wea
134, r=ifdg s w® AR HIvY T 9= 3
T FHE ¥ e SN gl —
FYF (A): qﬂ%ﬂuqﬁwaﬁwﬁr$m
¥ qiiy fades & Ghedsm gell

gRT & wE o) | :

Reason (R): The concept of differential SROT (R): 0 A9 o1 Hahedd AR
heating explains the origin of Wﬁwﬁraﬁwﬁr%u |
Indian monsoon. - Q< — {
eyl (1) ()T R) A T IR R), (A)ﬁqa
(1) Both (A) and (R) are true and (R) is the T HIET 2 \
- ‘::;‘w “";m(';‘;‘f “;(1‘:‘) () (A)TE 2 fhg (R) Tela 2 iy
ts true but (R) is false
(3) Both (A) and (R) are true but (R) is not the @) (A) T ®) I W E fog (R), (A) kil
correct explanation of (A) Wl AT T A T y {B)
(4) Both (A) and (R) are false o (4 (AT (R) IHN T B
(®) Question not attempted Fard (5) guiRa ue
133. Hellenic plate is located at - 135. goifie wic e & —
(1) Alaska and nearby area (1) TS TAT ATUTH & & H 081
(2) Mediterranean Sea and nearby area (2) R TR M AU B 4 H
(3) Norway Sea (3) 5fd IrR #
(4) Gulf of California (@) ot N ey , i
(3) QllcSﬁﬂII not al:tempted | (5) ﬂaﬂﬁﬁ o | - _\_: |
32-%

Page 28 of 32

GET IT ON
Google Play

138. P. Sengupta and Galina Sdasyuk divided India  136. &), J=yar o el IRy 3 ARG B 5

into how many major resource regions? v aaeE et # e e o
- (1) 7 2) 9 (1) 7 (2) 9

(3) 6 @ 5 m 36 (@) 5

(5) Question not attempted 12l (5) aRa uH

137. Which of the following school of thought is also
- considered as ‘Biography of the landscape’?
(1) Existentialism (2) Pragmatism
(3) Positivism (4) Realism
(5) Question not attempted

138. Vilas and Lasi are tributaries of -
(1) Kothari (2) Chambal
(3) Parvati (4) Kalisindh

(5) Question not attempted
139. The rocks of the Hamada desert region of

Rajasthan belong to which of the following -

geological periods?

(1) Oligocene and Miocene Periods

(2) Cambrian and Ordovician Periods

(3) Carboniferous and Permian Periods

(4) Jurassic and Eocene Periods

(5) Question not attempted |
140. In Fenneman’s “Circumference of Geography”

which of the following was not included?

(1) Biology (2) Geology

(3) History (4) Physics

(5) Question not attempted

141. Assertion (A): Post-Validation is an important
- step in the computer assisted

learning process.

Reason (R): . It helps in making corrections
before = implementing the
computer assisted module.

(1) Both (A) and (R) are true but (R) is not the

correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the

correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A)is false but (R) is true
(5) Question not attempted |

W.efoRes & 4 59 e &
H—g¥d BT Vg IRT W A Sar 87

(1) sRawar (2) SeEga
3) v (4) IUREE
(5) sgaRa g
138. R T oA S AR § —
(1) Per & (2) g5 9
() g = (4) &l R &1
(5) saRa v
10.J5E & BRI Yoo B Yo
ffoRaa 3§ 9 5w Tifle o o 87

(1) aaferMi= 9 TRARNE &1
(2) ®fgg= 9 sireIfalR= o
(3) FEIFBE 7 IS &I
(4) Wﬁﬁhﬁ?m
(5) IRa v
190. 3789 & g & IR ¥ FreafolRaa & @
PraT afafora w81 ar?
(1) She—Rsm (2 ¢fRwm
() sfaEm™ (@) Hifaa
(5) Faika o
M. 599 (A T—TEET (IRe—dfeeeE)
SR e AR Ufshar &
% Hawdqol ool 2 | .
g PRYCY WEWS Higdd B aF]
1 W U 99 GUR Y A
Heg Pl e |
(1) {A) AR (R) T IA & P (R), (A) D
el TRAT 8] Bl &
2 (A)3R (R) SR W& ¥ IR (R), (A) P &
TR HAT B |
3) (A) TE B WP (R) T B
@) (A) T § *Afe (R) @& B
(5) IaRa v

PRI (R):
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142. Which of the following statement is not correct
about the social system of Concept Attainment
Model?

(1) The model has moderate structure.
(2) The model is relatively structured.

(3) The student controls the sequence of phases.

(4) Students interaction is encouraged.
(5) Question not attempted
143. Which of the following step is not part of the
systemn approach in instructional design?
(1) Identifying objectives
- (2) Selecting random teaching methods
(3) Designing learning experiences
(4) Evaluating effectiveness
(5) Question not attempted
144. Which one of the following is not included in
non-projected teaching aids?
(1) Transparencies  (2) Specimen
(3) Diorama (4) Map
(5) Question not attempted |
145. What is the main advantage of a Super Video
Graphics Amay (SVGA) cord in computers?
(1) Increases the speed of internet browsing.
(2) Enhances the quality of graphical images.
(3) Increases CPU performance.
(4) Reduces power consumption.

182, wige wwif SfeAE @ AEioS gorel @
fava ¥ freforfea ¥ § P P T TE
27
(1) Wi A =T R
(2) wRwF anderga SR B |
(3) fRemdt =l & Fw 3 Pt 7 8
(@) femeft s @ s R S 2
(5) siRa weH

143. frefoRad & @ srRTe® Afee (RoTEH)
¥ PITET TROT YOI SUNTH BT WA 781 87
(1) IR H ggd= B
(2) argfees R el &1 997 A
(3) e SrgHal o iffeaT BT
(4) Wi B1 qeaiD B
(5) IRa w

144. faefafen § I v IR—wafa Reor vems
il % afafer w8t 87

(1) AR (2) ST
() SERMI (4) a=feA
(5) FaRa weA

145. rew & R ffed mivaw W (SVGA) #ie
T Y& o 1 87
(1) e aefyT & 7fa I B
(2) Tifbaw fRal & o § R o g |
(3) Wiy, &1 PR g 2) |
(4) fasTel o Guq $9 FaT & |

(3) Question not attempted (5) IR v
146. Which of the following statement regarding the 146 3% ToHe) & WiTeamR SurM ¥ Haldd
software approach to educational technology is fAmforfaa 9 |/ diar w2 98 g 87
not correct?
1 FTAEROT T‘lﬁ’l—'ﬂﬂ‘?f
(1) Itlsalsoca]ledbehavmuraltechnulugy ”?zﬁ ﬁﬁTW%I
(2) It is characterized with task analysis, (2) & e Fawerwr, Sewdt & fo 19 a3
formulating  objectives and  selecting JAPErTH ORI & T |-G B
_appropriate leaming strategies. (3) g5 R vd IR gfthar &1 9o
(3) It is the mechanization of teaching and -4
learning process. 4 R ; _
(4) Psychological principles of teaching and 9 ¥ v P Regrer
learning are used in this. BT JANT o e §
(5) Question not attempted (5) IgaRa ges "
32-8 Page 30 of 32
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Assumption of co-operative learning?

{1) Students should be given opportunity to
work co-operatively in teaching-leaming
process.

(2) Students can learn effectively if they involve

fully with learning process and helping each

other on learning path.

(3) Evaluation of learning should be measured
through achievement of each individual

learner.

(4) Evaluation of learning should be based on

what were the objectives framed for group.
(5) Question not attempted
148. What does ‘Netiquette’ refers to?

(1) Online behavior and interaction

(2) Not using punctuations in messages

(3) Speaking loudly online

(4) Avoiding all digital communication

(5) Question not attempted

149. A teacher wants to apply Suchman’s Inquiry
~ Training Model in a class. What should he/she

does first?

(1} Give a lecture explaining the content in

detail before allowing any question.

(2) Provide direct answer to student’s questions.
(3) Ask students to memorize key concepts

before the lesson begins.

(4) Present a puzzling situation or problem and
encourage students to ask investigatory

questions.

(5) Question not attempted
1

Assisted Instruction (CAI) in education?

(1) Eliminating teachers’ role.

(2) Developing self-paced
programmes.

(3) Replacing traditional books entirely.

(4) Limiting students’ access to knowledge.

(5) Question not attempted

199. v5 ¥ers e o 99 @

learuinQ :
:F-u.

GET IT ON
Google Play

147. Which of the following is not the Basic 147.F=fRfed § § @G W=l ™ & ‘

MR AT 81 87
(1) Renfdat &1 Rworsfrm s 3
ﬁaqaﬁmaﬂﬁmﬁ‘lﬁrﬁmm

(2) ﬁmﬁaﬁmﬂﬁm%mﬁ%mﬁsﬁ
WA o ufhar ¥ g8 TRE QW TR @
WEANT TR §Y AT 9 W 7 |

) sfrm &1 YT IS ST
ST TR BT TR |

(4) I FT q=iPA 39 99 W R S

a1feq & w9E @ 9 e @ T v
iR 5 W 9

(5) FaRa weA

148. 'Afee @1 Ty et 27

(1) JF T @9eR a i '
ﬂ)ﬂﬁﬁﬁﬁﬁmﬁﬁﬁﬁmﬁm

(3) =g a9 Qo

@) ¥ voR & fSfirea AR ¥ s== 1

(5) IR WA

g=BT uideer gt
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